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1

2

3 0.5 0.5
4 0.5 3.0 0.5 1.0 3.0 2.5 15
5 0.5 0.5 0.5 0.5 2.5 2.5 1.0 4.0 15 2.0 2.5 2.0 5.5 5.5 3.0
6 0.5 3.5 2.5 1.0 0.5 5.0 3.5 3.5 1.5 2.0 2.0 3.0 1.0 3.0 15 0.5 15 3.0 2.0 2.0
71 270 4.0 4.0 3.0 15 0.5 0.5 2.0 15 2.0 3.5 1.0 2.5 3.5 3.0 5.5 1.5 2.5 2.5 2.0 2.0 1.5
8 4.5 3.0 2.5 3.0 1.5 1.0 1.5 3.0 2.5 3.5 5.0 2.0 3.5 3.5 15 15 1.0 0.5 0.5 0.5 1.0 2.5
9 1.0 4.0 4.0 2.0 15 0.5 15 3.5 3.5 1.0 2.5 1.0 0.5 1.0 1.0 0.5 1.0 15 2.0 4.0 45 4.0
10 6.0 1.0 1.5 1.5 1.5 1.5 1.5 1.0 2.0 2.0 3.5 2.5 2.5 4.5 3.5 6.0 5.0 4.5 6.5 30| 19.0
1 1.5 1.0 0.5 15 1.0 0.5 0.5 15 15 0.5 2.0 1.0 1.0 1.0 1.0 0.5 0.5 45 7.0 40( 130
12 0.5 0.5 0.5 0.5 0.5 1.5 0.5 1.5 0.5 1.0 2.0 1.0 2.0 2.5 2.0 1.5 2.5 4.0 8.0 7.5
13 1.0 2.5 2.0 2.0 1.0 3.5 3.5 15 5.0 3.0 3.0 2.5 4.0 45 5.0 45 4.0 6.5 1.5 6.5
14 3.5 3.5 2.5 3.0 2.5 1.0 1.0 3.0 2.5 3.0 4.0 15 2.0 2.5 15 2.5 5.0 2.0 5.5 6.0 1.0 9.5
15 2.5 2.5 2.0 2.0 15 0.5 1.0 0.5 0.5 1.0 1.0 3.5 2.0 15 6.5 35[ 100 8.0 5.5 6.0 1.5 6.5
16 2.0 1.0 1.0 1.5 1.5 3.0 1.0 4.0 3.0 6.0 4.5 4.0 4.5 4.5 4.0 4.0 5.0 8.5
17 1.0 1.5 1.0 2.0 1.0 0.5 3.0 3.5 2.5 2.0 4.0 4.0 45 4.0 5.0 5.5 4.0 4.0 1.5 7.0 9.0
18 1.5 1.5 1.5 3.0 1.0 0.5 3.5 4.0 3.5 4.0 3.5 3.5 3.0 2.5 4.0 5.0 2.5 3.0 4.0 5.5 1.5
19 2.5 4.0 2.5 20 1.0 1.0 2.0 2.0 2.0 2.0 3.5 2.5 1.5 4.0 3.0 2.0 3.0 5.0 9.0 6.5 5.5
20 1.5 3.5 4.0 2.0 1.5 0.5 1.5 2.0 4.0 3.5 4.5 2.0 3.5 2.0 2.5 2.5 15 2.5 3.0 0.5 2.5 1.0
21 1.5 2.5 2.0 3.0 1.5 0.5 3.0 1.0 1.0 3.5 4.5 2.5 2.5 2.0 3.0 3.5 10 3.0 15 2.0 1.5 2.5
22 1.5 6.0 3.5 3.0 1.5 1.5 3.5 6.5 6.0 1.0 6.5 4.5 6.0 4.0 4.0 3.0 3.5 2.5 1.0 2.0 5.5 2.0
23 3.5 8.5 5.5 8.5 4.0 1.0 4.0 5.0 3.5 4.0 5.0 2.5 2.0 3.0 2.0 2.5 3.0 2.5 4.5 2.0 15
24| 185 6.5 5.0 9.5 5.0 1.5 3.5 2.0 3.0 1.5 8.0 7.5 2.5 1.0 5.0 2.5 1.5 6.0 5.5 1.5 1.0 1.5
it 87.5| 605 485| 520/ 300 95| 250/ 520{ 49.0/ 500/ 650{ 550/ 530f 500/ 615 600f 785| 600 675 845/ 97.0) 116.0
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B |IA=B |F)l |94 (A |[HEE|hR (=8 |#l EHH[EH  [EEM|EE [dull [AF |KMN |k WP [J\WBE | |FHS [k |#EE
1 3.5 3.5 3.5 4.5 2.5 1.0 1.5 5.0 3.5 4.5 3.0 6.0 6.5 4.0 5.5 7.0 7.0 4.5 14.5 6.5 10.5 3.5
2 2.0 1.5 1.5 45 3.0 25 3.5 25 1.5 7.0 7.5 6.0 8.5 9.0 6.0 50[ 205 8.0 0.5 1.5 45 3.0
3 0.5 0.5 0.5 6.0 1.5 1.5 2.0 4.0 2.5 4.5 5.0 7.0 10.0 4.0 4.0 1.0 2.0 0.5 1.5 2.0 0.5
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H 9.0 6.0 6.0 16.5 8.0 5.0 75 12.0 8.0 255 19.5 220 26.0 20.0 215 20.5 29.5 20.5 215 10.0 18.0 8.0
AR 284 7H8B~9HMEE (Bifs1:31))
PLES| LT s
A=EB|EN_ (48 |fEE |FEE[(hR |E8 (wl |[fEEE R (i [RE |dl [AF [KiM i P [J\WBE | |FHS [k |
S5 965 66.5 54.5 68.5 38.0 14.5 32.5 64.0] 57.0 75.5 84.5 77.0 79.0 70.0{ 83.0/ 80.5| 108.0/ 80.5 89.0 94.5[ 115.0] 1240




